Year1Subtroction Fluency - harder.

Subtraction = Not Crossing 10

Subtraction = Not Crossing 10

write a calculation to match.

9a. Draw a picture to finish the story and

?b. Draw a picture to finish the story and

write a calculation to match.
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10a. True or false?

10b. True or false?

18 - zero

l > [ 16 - one - one l

[ fifteen -0 l=[ 18 - two - one

11a. Complete the bar model using the
story below.

Ben has 18 butions.
4 are green. Three are blue.
The rest are yellow.

eighteen
3

11b. Complete the bar model using the
story below.

Nina has twenty shapes.
2 are circles. 6 are rectangles.
The rest are squares.

20

six

12a. Complete the calculation using the
number line below.

I
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12b. Complete the calculation using the
number line below.




